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They should not become - 13 97 %31 203 %93 320 77298 1237 WP KD
Tohmay from their outside; why did we learn, 2217 %221 2n1 ¥%3, etc.

Overview

The X 13 asked if n°2151 %5 are like 091 °%5 they should not become &nv from the
outside, however the mwn states that [only] 201 °221 0317 °95 are Wnw » from their
inside but not from their outside; it does not mention that n°3137 ¥93 are also similar
to 0717 °22. Our MooIN asks why the X713 does not bring a better proof.

mooIn asks:
- 2’0’79‘1 NNODINT NN MINND NYY NINT BDNH9AN )2 NYnvy 19%324Y Y

The RX''2w9 has a difficulty; for the X723 should have cited a Xn>»92 in the
XnooIn of 2995 nNoon, which states [in the chapter beginning with] -
- 173 PUTPNI PR Y10 PRINN PR DY 5991 1159191 5991 \Y 293 I NYav) *vnn
A needle and a ring; (and) regarding the bottoms of wooden utensils and glass
utensils and bone utensils, we do not fill the nxXvr °» with them and we do not
sanctify the nxvn °» with them -
=959 751283 19981 PN
And a %05 7922 will not protect them nor their contents from being N “7xa AR Yapn.

This concludes the Xn>72. M0N0 continues with his question -
=PI 2T DY NIN 11390 INIDIND N NIT NN 251999 INNIN) 12)1 PRNVINT NNIIN

It is evident from this Xn>12 that n°>101 °95 are 8»w» from the outside, so why
does the & na cite this mw» from which we cannot prove directly that %3137 °% is

723 WY n, but only through an inference, namely that-

= 9995 MY INNMIVT NI DN Y99 9N Y5
Only o717 %21 701 %92 are similar in their 7821, etc. (that they are 1910 X»un but not
120%) to the exclusion of n3131 °%3, which by inference is not similar; why should we use an
inference when it is stated clearly in the Xn>12 —

"'y explains 701 *93 to mean 712 77X 12 made out of white earth.

25"y (p"2).

? The X"w7mn amends this to read, *»3 "2 ;nyav) v P19 (instead of *93 WY NYaWY LNY).

* We need to draw o»n o in order to mix them with the ashes of the 7% 779 to sprinkle them on a n» Xab, in
order to be 17v» him. We cannot use these utensil for either drawing the 0 o' or as the vessel in which the 79X is
mixed with the 0»n o', which makes them fit for sprinkling.

> A 2°no 7n¥ means that the %3 is tightly covered so that nothing can inter into its airspace. The 7m0 writes (in 12712
1,0 [npn]) that X3 XY 1Y 09 TRy PY WK 7N °93 95). Indicating that a o7 *25 (which is 11"%» Rhwvn) and its
contents will not become &nv if it has a >no 7on%, since the 8w did not enter its airspace. However other 2°23 (who
are 7231 IRML 22pn) will be become Xnv even if they have a 9°nd 71X since their outside is exposed. The Xn>>72
which states that n°>131 °23 are not 2°n5 7% >3 teaches us clearly that n*2127 ¥ are 1231 RPLM.
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mooIn has an additional question:
- SRTIINT AT DN 5991 91 99 KON 2PUN NYT 91519 RN 50101 TON TV

And additionally (another reason why we should cite the &n»92 instead of the
mwn), for on the 71wn which the X ) cited we can answer that the reason the
mwn does not mention N°137 °93 is because the 71wn only mentions 921 an1 “%>

o9, which are Rns"MIRT» XY, however N°3131 73 is only 132777 8™ 22pn, therefore the
mwn does not mention it.

mooIn proves that 901 %3 are n"7n IRMY z72|773:
993 %95 M99 ©N %95 [7999] *25n91 'D23n9 NN 45 XPOY M) 9594

For we derive an1 %> DX in 2°1712 nMn, for it is written 9917 %92 [#29] to include
2n1 993, Our MdOIN does not answer his question.lo

Summary
The proof from the Xn»72 should be preferred because it is explicit instead of

implicit. Additionally the 71wn may be discussing only XN™7XRT AxM0.

Thinking it over
mooIN, in the first question, asks, why should we infer from a 71wn, when it states

clearly in a Xn>12. However we can answer that it is preferable to ask from a mwn
(even through an inference) than to ask from a Xn92 (even when it is explicit)?11

® There is no proof from the omission of n*3131 >3 from that 73wn, that n*2131 23 are 123 Xnw™y, it is possible that 93
N 107 are not 23 X n and the reason they are not mentioned is because the m1wn is discussing XN MIRT ARMIY
exclusively, while n»317 *3 are 7¥mIW 22pn only 1127177..

TR .

835,80 (1) X,

? See w"wM that we derive 101 %93 from the [additional] 1" in the word 9.

10 See 2 nyTA Y.

"' See *n v naw
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